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Joe Smith recently claimed that the proportion of adult males in the U.S with at least two
credit cards is different then the proportion of adult females in the U.S with at least two
credit cards. He conducted a survey by randomly selecting 100 males and 90 females. Out
of 100 males, 71 had at least two credit cards. Out of 90 females, 72 had at least two
credit cards. Conduct an appropriate hypothesis test to see if you believe that the

proportion of males is different from the proportion of females?
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A student claims that the average 6.P.A at Iowg State University is lower than the
average 6.P.A at Indiana State University. She goes to each college and randomly selects
60 students from each university. The average 6.P.A for the 60 students at Towa State
was a 3.14 with a standard deviation of Q.32 and the average G.P.A at Indiana State was a

3.31 with a standard deviation of 0.18. Does the data support the students claim?
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If someone believes the average temperature in a specific state is over 76° and they
take a sample of 50 days and record the temperatures for that state. The average
temperature for the 50 days is 80°. They conduct an appropriate hypothesis test and
discover the p-value is_e-qual to 0.04. Explain in detail what the p-value is actually
saying in the context of this probfem.
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